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DAY 1

1. 2-SERIES PROCESSOR

e Design

Z-BUS

USB; 10/100 Ethernet; USBII

RELAYS; IR; COM

Y-BUS Supports all classic generation “"X” cards

This is the latest generation of Crestron processors capable of
multithreading and uses a Motorola ColdFire® Processor. This
processor is now utilizing 32bit architecture enabling complex
mathematics and string handling to be carried out at a significantly
faster speed. The processor is rated at 257 MIPs.

The processor uses a CUZ for its firmware which sits over an
upgradeable monitor Rom.

The processor is broken into two busses designed to provide a 300mbs
bus for high speed communications to Ethernet based systems and a
40mbs bus for low speed communication over RS232 IR and relay
control.

The processor can handle 1000 digital signals changing status at the
same wave. (Wave will be explained later on). For analogue this value
is 256 and for serial signals this value is 127.

Our processor is event driven, so the processor only actions whenever
there is a change of status of a specific signal and will only process this
signhal and the related signals in the program. So in rest (no button

Crestron International — Intermediate Training 2




presses on the TP), the communication between the TP and the
processor is shut down.

e 2-Series processing speed
1/100 = 1 TICK and is equal to 10 ms.

Every TICK can be divided into 255 parts or WAVES.
(So every wave = 0.039 mS (10ms / 255))

In 1 wave, the processor is able to shift a digital signal trough a
symbol. (So 1 wave is 1 action...)

Example: In how much time before the contact closes from the
moment the button is pressed?

BUTTON )l OR s  OR MO

Solution: Time = 3 X1 wave = 3 X 39 uS = 127 uS

The processor can do this for a maximum of 1000 digital, 256
analogue and 127 serial signals per wave.

Processor Processing speed (MIPS)
QM-RMC 63
QM-RMCRX-BA 63
AES 66
AMS 66
AMS-AIP 66
PAC2M 66
MPS 66
AADS 100
PAC2 257
PRO2 257
AV2 257
CP2 257
MP2 257
MC2 257
RACK?2 257
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e Numeric Formats

Numeric values can be expressed in a number of formats, where the
character in parentheses represents the format identifier:

(d) Decimal

(h) Hexadecimal

(%) Percentage

(s) Seconds

(t) Ticks
(= 1/112.5 seconds = 8.8ms for Xgeneration Processors)
(= 1/100 seconds = 10ms for 2 Series Processors)

(' Character’) (Single byte)

The allowable range of analogue values expressed in each format is as
follows:

Format Minimum Maximum
Decimal od 65535d
Hexadecimal Oh FFFFh
Percentage* 0% 100%
Seconds** Os 582.53s

Ticks ot 65535t

Byte "' (space, ASCII 20h) ;Eh)(t”de’ ASCII

*Percentage and seconds formats can be expressed with precision of .01% or .01s.
**Double precision time values range from 0.0 seconds to 19,088,743 seconds.
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e Buffer Power

Suppose we need to send 100 serial commands to a broadcast
switcher via serial control as fast as possible. So how can we send as
many strings possible as fast as possible?

1—olenable |
EBUTT M = | e String 1 TxE

|_...| | - Stting 2
|—- | w= string 3
|_,, | = tring 4
L.| Buffer | -

L | -

L | .

L] | 2

e

Serial /0

When using the oscillator symbol, the minimum value we can fill in is
1t (1 tick).

This means an oscillating speed of 2 X 8.88ms or 17.6 ms.
For 100 strings this would be 1.76 seconds what's to slow. So the
above solution is the fastest possible.

A buffer can be used as an oscillator, can be used to slow down a
signal for a few waves and can also be used as an OR gate.
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Example:

1_—«|enable

BUTTOM 1 = ORITO & — =
BUTTOMN 2 = OR1TOE— =
BUTTOMN 3 - OR 1 TOf ————w
BUTTOMN 4 - OR1TO 88—
BUTTOM & Buffer OR1TOS

BUTTOMN & - OR1TOR— =
BUTTON 7 - OR1TO8— =
BUTTON & o OR1TOE—

In the above example the BUFFER functions as an OR gate because
the sighal name for all the outputs are the same. We can even take all
OR gates out of the total program and put them in 1 BUFFER that
function as a multiple OR gate:

T —=] enakle

BT T 1 e R
BUTTOMN 2 R bt 1 e
=1 I i Y —OF bt -8 —e

| ELIT T < l—-— —— T Bt -0 e
BT TR 5 —— OR bt -8 ——
BT T G —— OR bt 4B e
BLUTTOMN 7T L[ [
BT T = —oR bt 1-8 —e

BUFFER

ELIT TN = - T Lt S
BT TN 10 — O bt 91 B
ELTT T 11 — O bk 91 S
BT T 12 O Bt a1 S e

| BT TR 12 l—- —oR but 9216 —e
BELIT T 1 DR bt 21 B
BT TN 1S DR bt 21 B -
ELTTOMN G — R bt S-S ——
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2. SIMPL WINDOWS SHORTCUT KEYS

e Display manipulation

ALT + B Hide / View both Symbol Library and Program View
ALT + P Hide/ View Program View
ALT + Y Hide/ View Symbol Library

e Signal manipulation

ALT + 6 Add signal suffix from prompt

ALT + 1to 5 Add signal suffix that were set in Preferences
ALT + / - Add or delete 1 input or output to a symbol
ALT + SHIFT + PLUS Add multiple inputs or outputs to a symbol
SHIFT + F4 Increment Signal name by First Numeric value
F4 Increment Signal name by last Numeric value
F6 Copy selected signal from one side to the other
F9 Search and replace

e General edit

CTRL + C Copy
CTRL + X Cut
CTRL + V Paste
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3. Exercise: Analog scaling

New used symbols

e Analog Scaler [ascale]

The Analog Scaler symbol scales the range of values for its analog
input signal to the range defined by the <span> and <offset>
parameters, using the following formula:

<aout> = (<ain> * <span> / <divisor>) + <offset>

Where <span> represents the scale factor, and <offset> the
minimum value. The default divisor is 65535d unless defined.

e Analog Scaler without Zero Pass [ascale0O]

The Analog Scaler without Zero Pass symbol operates identically to the
Analog Scaler symbol, except for the behavior when the input is set to
0d.

On the Analog Scaler, when <ain> = 0d, this results in <aout> also
immediately being set to 0d (a "zero pass"), whereas in the Analog
Scaler without Zero Pass the output does not go to 0d, it is set equal
to the offset.

e Analog Compare - Full Set [acomp2]
The Analog Comparison symbol compares the values of its two inputs
and drives its outputs high based on the following traditional

conditions:

Value 1 is <, <=, >=, >, =, = Value 2 the corresponding output will
go high until another match is found.
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4. Exercise: Analog RAM

New used symbols

e Analog RAM [ram]
The Analog RAM symbol stores the current values of all its analog
inputs in NVRAM (non-volatile RAM) whenever the <store> input goes
high while any one or more <select> inputs are high.
The stored values are recalled:

1. Whenever a <select> input goes high while <recall> is high;

or

2. Whenever <recall> goes high while a <select> input is high
and <store> is low.

Every analog input has a corresponding analog output, and each
input/output pair is independent of other input/output pairs. (In
normal applications, each input/output pair will have the same signal
name.)
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5. Exercise: IR control

New used symbols

e Numeric Keypad [#pad]

The Numeric Keypad symbol generates on its output the analog value
of its digital inputs, keeping the value within the range given by the
<upper limit> and optional <lower limit> parameters.

The <0> through <9> keypad inputs set the output value and are
cumulative. That is, a rising edge of <2> sets the output to 2, a
subsequent rising edge of <5> sets the output to 25, and so on. The
output value also increments by 1 with each rising edge of <+>, and
decrements by 1 with each rising edge of <->.

e Decade [decade]

The Decade symbol converts its analog input into groups of digital
outputs representing the decimal value of each digit. Each group acts
as a one-of-ten decoder. For example, given an input of 125, the
following outputs would go high: <hundredsl>, <tens2> and
<units5>.

The optional <enable> input enables the symbol when high and sets
all outputs to 0 when low. In applications where the value of the
analog input might change continually, as from an Analog Ramp
symbol, <enable> can be pulsed in order to produce the desired
output.
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DAY 2

1. RS232 / 422 / 485

e What is RS232?

It is a standard for serial interfacing (RS = Recommended Standard)
that has been approved by the EIA (Electronics Industry Association)
for inter-connecting serial devices. It dates from 1962 and is originally
developed to achieve serial communication between peripherals on a
network (such as printers, terminals,...).

It is unbalanced and uses a 9 or 25 pin connector.

There are 3 possible RS232 interconnections:

SIMPLEX: Only two conductors are used, TX and GND

HALF-DUPLEX: Bi-directional communication between the devices, but
only one device can transmit at a time. Often Handshaking is used:
RTS and CTS lines. So minimum of 3 conductors: TX, RX and GND this
one is most often used in the AV industry.

FULL DUPLEX: Bi-directional communication between the devices, both
the units can transmit at the same time (less used in AV industry....)

3 conductors: TX, RX, GND (explain this by showing a DB9
connector).

« Data is send between GND and TX, data is received between
GND and RX.

« Distance between CPU and node is +/- 20 meters (60 feet).

« Databits: information is send in packages of 8 or 7 bits

« Startbit and stopbit’s (normally 1 startbit and 1 or 2 stopbits).

 Transmission speed between CPU and node is Baudrate

(bits/seconds).

With RS-232 the maximum baudrate is 19200 bps.

Parity control (datacheck in the package) Odd, even or None.

Flow control also know as handshaking.

Protocol and serial settings

In serial communication, bytes are disassembled into series of bits, to
be transmitted from one device to another over a single wire. Often
the information is sent in packages of seven or eight data bits. To let

Crestron International — Intermediate Training 11




the receiving device know when the package starts and stops, one
start bit and one or two stop bits are added.

The most important variable in the asynchronous protocol is the
transmission speed, called the baud rate, expressed in bits per
second (bps). The maximum baud rate for RS232 is 115200 bps.

Two more variable settings are: Parity and Flow Control or
Handshaking.

Parity can be Odd, even or None and determines whether to add a bit
to each set of data bits used to validate the data package for
transmission errors. Flow Control or Handshaking can be (Xon/
Xoff) Software Handshaking, (RTS/ CTS) Hardware handshaking, or
none.

Handshaking is used by the receiver to tell the sender to stop
transmitting as it is not ready to accept more data at that time. If
done via hardware, two extra conductors are used, the RTS (Request
to Send) and CTS (Clear to Send), if done via software, the code Xon
and Xoff are sent. Most often used is NONE.

Typical serial settings: 9600 Bps, 8 data bits, 1 stop bit and no parity.

Pin assignment:

1 2 3 4 5
[ g ]
( D)
/ _“\.I | 00 L / i —\.
~— . eeee |/
L% ] %
6 7 8 9
Pin Signal Pin Signal

Data Carrier Detect Data Set Ready

—d jo

1

2 Received Data Request to Send
3 Transmitted Data 8 Clear to Send

4 Data Terminal Ready g Ring Indicator

5

Signal Ground

Pin 2 (RX), Pin 3 (TX) and pin 5 (GND) are always used, Pin 7 (RTS)
and pin 8 (CTS) are optional dependant on what device you are talking
to. A good source of this information is the Crestron Cable database.
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e RS422

The limitation of RS232 is the maximum distance between the two
devices of 50 feet or 15 meters at a baud rate of 19200 bps. The
higher the baud rate, the shorter the distance that can be covered.
The RS232 standard is an unbalanced way of sending information,
thus very sensitive for noise. To be able to cover longer distances, the
RS422 standard was developed, which is a balanced way of sending
information and thus more noise tolerant. As a result of this each
transmit and receive line uses two conductors (+TX, -TX, +RX, -RX).
The maximum distance between the devices is now 4000 feet or
1200 meters at a baud rate of 115200 bps

Beside the difference in cable length the second big difference is the
maximum baud rate that can go up to 40 Megabits per second in
RS422.

o Data is transported in a balanced form this makes it possible to
increase the distance between CPU and node up to 1200 meters
(4000 feet).

o 5 conductors TX+ TX- RX+ RX- GND

TX+ ¢ ATX: This is the value that wil
™ — : be send between the CPU and
the node.
GND *same counts for the Receive

Baudrate is possible up to 115200 bit per second

e RS485

This is a variation of the RS422 protocol, allowing multiple slave
devices (up to 64) to be addressed by 1 master device. The master
sends an address within the command to that makes it possible to
control a specific slave. CRESTRON has it’s own protocol based on the
RS485 protocol, allowing the processor to communicate with a
maximum of 252 devices on the CRESNET port.
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This is a varation of the RS-422 protocol, only now 2 wires will handle all the
datatransmition between CPU and nodes.

ID 01 ID 03
Node Node

Node
ID 02

CPU

Correct, our Cresnet is actually based on a RS-485 network.
Distance +/- 5000 feet (+/- 1,2 km)

Baudrate 115200 bps

Instead of seperate serial cables coming from a CPU to each node,
you can now daisy chain and give each node a separate ID.

O O0OO0O0Oo

e Pin out assignment CRESTRON COM PORTS:

The pin-outs are as follows for Bi-Directional RS232:

PIN DIRECTION DESCRIPTION

No Connection

To Crestron (RXD) RS-232 Receive Data
From Crestron (TXD) RS-233 Transmit Data
No Connection

Ground RS-232 Signal Common

No Connection

A Ul A WN -

* (RTS) RS-232 Request to
7 From Crestron Send, Only use if selected in
SimplWindows program.

* (CTS) RS-232 Clear to Send,
8 To Crestron Only use if selected in
SimplWindows program.

9 No Connection
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The pin-outs are as follows for Bi-Directional RS422:

PIN DIRECTION DESCRIPTION

(RXD-) RS-422 Receive Data

1 To Crestron (Idles low)

4 From Crestron (TXD+) RS-422 Transmit Data

(Idles high)
5 Ground RS-422 Signal Common

(RXD+) RS-422 Receive Data
6 To Crestron (Idles high)

(TXD-) RS-422 Transmit Data

9 From Crestron (Idles low)

*= RS-422 transmit and receive are balanced signals requiring two lines plus a
ground in each direction. RXD+ and TXD+ should idle high (going low at start of data
transmission). RXD and TXD- should idle low (going high at start of data
transmission). If necessary, RXD+/RXD-and TXD+/TXD- may be swapped to
maintain correct signal levels.

The pin-outs are as follows for Bi-Directional RS485. NOTE, not all com
ports support support RS485, review the manual which is also
available on-line as well as SimplWindows for specifics:

Com (DB9) Connector DIRECTION DESCRIPTION

Tie Pins 1 & 9 together BiDirectional (RS485 - ) RS-485
Tie Pins 4 & 6 together BiDirectional (RS485 + ) RS-485
Pin 5 Ground (RS485 G) RS-485
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e Serial settings of the Crestron COM port:

Program Yiew Detail View

=1-£5 Central Control Modules : PROZ
--M8 Slot-04 : C2I-COMS Built-in & R5-232/422/485 Ports 1 C2T-COMA

E=SYPart-A @ Generic Two-Wway Serial Driver | CZ COM Two-way serial drive

&5 Port-B ¢ Generic Two-Way Serial Driver @ C2 COM Two-way serial drive
B Slot-05 @ CZI-IRE 6 Port IR/1-Way R5-232 Card 1 CZI-IRE Yiew/Edit Device Hame Ctrl4R or Tab
BE sSlot-06 : C21-106 Built-in Digital IO, Analog Inpuk Card ;| C2I-108 Shaw Detai CHI+D
B Slot-07 @ C2I-RYS Built-in & Low Yoltage Isolated Relays 1 C2ZI-RVE Find Detail
+ -8 Slot-08 ; C2Z-Ethernet : CZEMET-1 Search and Replace Fa
+ -8 Slot-09 1 Cresnet | C2Mek-Device
Comment ouk Symbol Alt+F1
BE Slot-10: C21-PROZ-LCDPANEL ProZ Fronk Panel © C2T-PROZ-LCOPAMEL
-G Logic Make Symbol Complete CHH+I

+-(_] Signal List

Print Svmbaols

Show Routings Fz

Set Waktch on all signals in Folder
Clear Watch on all signals in Folder

Configure Device

Help F1

e ASCII codes

The communication between a keyboard and the CPU is also via codes,
but since you have more than 2 (binary) or 16 (hexa) characters on a
keyboard they had to create something like the ASCII format. Every
key on the keyboard will actually generate a 8 bit (1byte) code. Every
Byte is representing a certain character.

Show with the help of the conversion table witch ASCII codes that you
have.

Example: 182 decimal is A in ASCII

(See appendix for the ASCII table)

Crestron International — Intermediate Training 16



2. Exercise: Creating a serial signal

New used symbols

e Analog to Serial [txa]

The Analog to Serial symbol constructs a string from the low bytes or
high bytes of its analog inputs, or from a combination of analog
inputs and string constants, and then transmits the string with each
rising edge of <trig>. In this way the symbol can update the serial
data during run time.

The <Format> parameter determines whether data is taken from the
low bytes or high bytes of the analog inputs. It also specifies what
special formatting, if any, is to be applied to the string before it is
transmitted.

e Analog/Serial one shot [smv, sishot]

The Serial/Analog One-Shot symbol drives its output signal high with
each transition of the input. The output goes high for the period
specified by <pulse_time>, and low when <pulse_time> expires.

The Serial/Analog One-Shot symbol is retriggerable, meaning that it
will recognize any changes in the input, even while <out> is high,
causing it to start the count all over again. The output will not go low
until the full <pulse_time> has elapsed without interruption.

3. Exercise: Creating a variable serial signal

New used symbols

e Serial to Analog [rxa]

The Serial to Analog symbol evaluates its serial input string until it
finds an exact match with the string (or string fragment) that is
defined by the <p> parameters. It then extracts selected characters
from the string and transmits each character as a separate analog
signal, such that the analog value of each output is the same as the
ASCII value of the extracted character.
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Consider a security system that transmits data in the format:

\x2A {1-byte zone number} {2-byte zone status} {5-byte zone
name} \x35 {1-byte checksum?} \x26

Where the hexadecimal values are constants and the fields in curly
braces are variable values. Suppose that the two bytes representing
the zone status must be extracted and routed to two analog outputs
whenever the zone number equals \xO01l. Further suppose that the
zone name and the checksum are irrelevant.

Since there are twelve bytes of input data there must be twelve <p>
parameters, defined as follows:

<p1l> (must match \x2A): 012Ah

<p2> (must match \x01): 0101h

<p3> (extracted and routed to <bytel>): 0200h
<p4> (extracted and routed to <byte 2>): 0200h
<p5> (ignhore): 0000h

<p6> (ighore): 0000h

<p7> (ignore): 0000h

<p8> (ighore): 0000h

<p9> (ignhore): 0000h

<p10> (must match \x35): 0135h

<p1l1> (ignore checksum): 0000h

<p1l2> (must match \x26): 0126h

Here <p3> and <p4>, the two bytes representing the zone status,
will be extracted and routed to the <byte 1> and <byte 2> analog
outputs.
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4. Exercise: Audio/video switching

Commandiresponse table for SIS commands

Command ASCll Command Response Additional description
(host to switcher) (switcher to host)

Create ties
Tie input x3] to output g, A& V ! Outlxz]oInfxz]* All

Example: 1*3! Out03 eIn01eAlld Tie input 1 A & V to output 3.
Tie input fo output, RGBHV only ‘& Outxz] Inxs] RGB Audio breakaway.

Example” 10*4& Out04+In10eRGB A Tie input 10 RGB to output 4.
Tie input x3] to output [xa], video only ] * xz] % Outfxz] Infx] Vid Audio breakaway.

Example"; 75% Out05e[n07#Vid Tie input 7 video to output 5.
Tie input [x3] to output 2, audio only [ * 2] $ Out]a) *Infxd| Aud 4 Audio breakaway.

Exarple: 12*8% Out08+In12e Aud 4 Tie input 12 audio to output 8.
Quick multiple tie EsdQMd'Dd'.. pl*fcd'e Out Multi In Multi Al

Example: EsdQ3*4!3*5/3*'e  Out MultilnMulti Alld  Tie input 3 to outputs 4, 5, and 6.
Tie input to all outputs b Out Multi In &g AllJ

Example: o Out Multi In 05 All Tie input 5 to all outputs.
Audio input gain and attenuation
Set audio input gain to +dB value G [nffle Aud=pd

Example: 172G [n01e Aud=+024 Set input 1 audio gain to +2dB.
Set audio input attenuation to -dB value [x1]* [xe] g In[xeAud=[x 4
Increment gain up X(G In[qe Aud=[¥q

Example: 5(G In05¢ Aud=+03 Audio input 5 level incremented

from +2dB to +3dB.

Decrement gain down G Infxf]*Aud=[xg

Example: 71G In07¢ Aud=-09 4 Audio input 7 level decremented

from -8dB to -9dB.

Global memory presets

Save current configuration as preset , Sprp] Command character is a comma.
Example: 9, Sprl9u Save current ties as preset 9.

The protocol for the QM-MD switcher can be found in the Simpl
Windows help file within the topic ‘QM-MD 16x16’.
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5. Exercise: Meridian

Work in groups of two people. One person acts as the CRESTRON
system, one person as the MERIDIAN unit.

SYSTEM A:
Crestron to Meridian

EEITTTTITY

Crestron sends volume up and down commands VP and VM to the
Meridian, using pulses of 0.2s. The Crestron processor and the
Meridian are both linked to one another via serial port A.

SYSTEM B:
Merdian to Crestron

The Meridian receives this string and sends the actual volume to the
CRESTRON in the official format being: MUSIC(5 spaces)00 to
MUSIC(5 spaces)99.

On the Meridian touchpanel, the actual volume should be displayed.
Crestron receives the reply from Meridian and takes out the volume
information to send to a Gauge.
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Meridian 565 RS232 Interface.

The RS232 interface for the 565 has been upgraded in Versions 2.6 and 3.6 or higher. It can
be operated from any terminal which operates at 9600 haud with 1 start bit, 1 stop bit and no
parity. Commands take the form of 2 ASCII characters, in some cases followed by a signed
argument (nn" below). All characters are echoed by the processor. A carriage return
character will execute the command, and backspace is also implemented. When a command
Is executed, the 565 will return 12 characters as shown below.

The following table lists the commands available and shows examples of the messages
returned. These always correspond fo the display on the 565.

Source Commands. Volume Commands.

CD Select CD source. CD 65 VP Volume +. Music 66

RD Select Radio. Radio 65 VM Volume -. Music 64

LP Select LP. LP 65 VNnn Goto volume (1-99).  Music 7

TV Select TV. TV 65 MU Mute. Mute

T1 Select Tape 1. Tapel 65

T2 Select Tape 2. Tape2 65 General Commands.

CR Select CDR. CDR 65

CB Select Cable. cable 65 SB  Standby.

TX Select Teletext Text 65 MR Menu Right Centre +0dB

V1 Select VCR 1. VCR1 65 ML Menu Left Balance <0>

V2 Select CDR. VCRD 65 MP Menu Plus (Up) Balance

LD Select Laser Disc. IDisc 65 MM MenuMinus (Down)  Balance 1>

PNnn Go to preset’ Trifield 5

COnn Select Copy source BNnn Bass Setting Bass  +2.0

on 562Vifpresent1_ o 1Dice TNnn Treble Setting Treble -3.0
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6. Exercise: Console command

New used symbols

e Console [console]

The Console symbol transmits (<tx$>) and receives (<rx$>) serial
data to and from the Viewport console. This allows us to send
commands to the processor as if from viewport and also receive
commands and responses from viewport.

e Serial Gather [gather]

The Serial Gather evaluates its serial input string until it finds the
character specified in the <delimiter> parameter. Then it transmits
the delimited portion of the string (including the <delimiter>). The
remaining string fragment is stored in an internal buffer that is the size
of the <length> parameter. If the input should contain multiple
delimited strings, each delimited portion is transmitted in order until
the symbol no longer finds a matching character.

e Serial Substring [sub$]
The Serial Substring evaluates it's serial input string until it find either

the start character or start position and collects the string up to the
end character or end position. This serial result is sent out of the out$.
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DAY 3

1. Exercise: TCP/IP Client

The Soundserver is an Ethernet Device at IP address 10.0.0.40. The
port number for communications is 5xx based on your seat position in
the training room starting with 501 for processor 1 leading to 512 for

processor 12.

Protocol to control the soundserver:

e Previous disc: CD -\r
e Next disc: CD +\r
e Previous track: TR -\r
e Next track TR +\r
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2. Exercise: Roomview

We will look at the implementation of the roomview symbol to allow
control over the system power, projector power, lamp life etc.

The Roomview

interface uses the

internal

loopback address for

communication and therefore should have 127.0.0.1 as its IP address.
The IP-ID should be set to 05.

About License Infmmalion—\\

View Groups ~
Edit Assets ~
Edit Users

Edit Events —_—

Edit Cantacts —_—
Edit Rooms

Edit Attributes —
View Log————
Find Room

Log Off —

% HoomVi Lll" ool Y
iy ¥ Yy yYrrhe
RRERERGEA A
[ 4 oo
@ NC
[ NYC Boardroom1
[ NYC Boardroom2
@ London
[ Lendon Conf1 =
[ London Conf2 o
[ Lendon vTC1 .
[ London vTC2

Group Tree View
allows you to sort by
parameters that you
define, helping you to
easily and quickly Ao
navigate through

Room\iew. Roo

® ®

Scheduled Event

Room\View Express makes scheduling of recurring or one time
events easy. Setting Room\View to automatically power down at
midnight throughout the week can save valuable projector lamp life and

ensure security inside the facility.

Help Alert

Real-time Interactive Help Desk requests are
sorled to come fo the top. The Help Desk then
has the ability to respond with an automalic
message or instant message the room with
axact procadures,

Display Usage

Display Power

Check on/off status of display power and
syslem power, View a bar graph lo monitor
the percentage of availab%n projector lamp
life and set an alert ta notify the service
department when a replacement lamp should
be ordered before the lamp fails,

=Ioix]

Fooma | Altibutes Cﬂ'lodxl L
eady n

Room Name —
& Location
(Sortabla)

Select View
by Rooms,
Attributes,
ar Contacts

RoomView Express gives you the ability
to simultaneously view more than 250
rooms from a single screen,
Cuslomize RoomView lo view by room
name, location, and group.

Online —

Status

Event—"
Log

Automatically generate
log files, reports and
charts to analyze ROl and
budget allocation. Track
device usage, call statistics,
and user history.

—— System
Power

Additional Customized —J
Attributes Available

RoomView Express gives you the ability to
add an unlimited number of attributes/
columns as you nead. Customize
parameters to monitor any signal available
from the

contral system's SIMPL program including
mation, ighting, audio levels, temperature,
video sync, phone number dialed or whether
or not a video-conferencea or audia call is
active.
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3. Exercise: Crosspoint routing

This exercise is designed to demonstrate the implementation of the
Crosspoint router symbols and their respective effects on program
speed and size.

Our exercise uses 2 touchpanels on our single TPS-4000 to represent
separate rooms of a house. Each room in the house should be able to
control the lights in any other room.

The Equipment Crosspoint Routing symbol works in combination with
the Control Crosspoint Routing and Equipment/Control Crosspoint
Connect symbols to facilitate signal routing in large AV applications
where multiple interfaces control multiple devices.

For example, a non-crosspoint system that includes 4 touchpanels
controlling 5 devices requires 20 control paths.

Touchpanel 1 Touchpanel 2 Touchpanel 3 Touchpanel 4

Equipment 1 Equipment 2 Equipment 3 Equipment 4 Equipment 5

Implementing the above system requires a minimum of 60 gates. That
is, each of the 20 control paths requires 3 buffers for routing digital,
analog and serial signals.

The use of Crosspoint symbols reduces the number of gates required
to implement the system.

All the signals from a control source such as a touchpanel are routed
to the Control Crosspoint symbol. All the signals from a device are
routed to an Equipment Crosspoint symbol. The signals coming into
the input side of one symbol type will be propagated to the output side
of the other symbol type.
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New used symbols

Equipment Crosspoint Routing [ecross]
Control Crosspoint Routing [ccross]
Equipment / Control Crosspoint Connect [eccon]

Each Control Crosspoint symbol has a unique Control ID; each
Equipment Crosspoint symbol has a unique Equipment ID. The Control
ID and the Equipment ID are fed into the Equipment/Control
Crosspoint Connect symbol, which controls the connections between
the two symbols.

Touchpanel 1 Touchpanel 2 Touchpanel 3 Touchpanel 4
Control Control Control Control
Crozspoint #1 Crosspoint #2 Crogspoint #3 Croszspoint #3
™ T 7 7
4 | 2

Equipment/Control Crosspoint Connect (Conne ction Manager)

ke |- = o
Equipment Equipment Equipment Equipment Equipment
Crosspoint #1 Crosspoint #2 Crosspoint #3 Crogspoint #4 Crosspoint #5
Equipment 1 Equipment 2 Equipment 3 Equipment 4 Equipment 5

4. Exercise: E-powerpoint

E-powerpoint enables the Crestron control system to control a
Microsoft PowerPoint presentation running on a PC. The software
detects loss of connection and automatically reconnects.

Crestron International — Intermediate Training 26



APPENDIX

Crestron International — Intermediate Training

27



234 [XIHIDSY[DIAXIHNDSYPIAXIHNDSY[2IA[XIHIIDSYPIAXIH D SY[DIA [XIHNDSYPIAXIHNDSY[DIA [XTHIIDSY
GSZ | 44 £Zz [ 4a 6L [da] = [est[d6 | T [zzv[ 42130 g6 [ 45 €9 [de | ¢ LE [ 41 ] sn
¥SZ | 34 zez|3al 1 Josr{3a| % [ssr|36 | 5 Jear|[3s| - [ w6 |35 « [To3c] < ot [ 31 | sH
¢z (a4 | = [rzzf|aa| | [esr|aa]| 2 || aec| o [sav|az| ¥ [e6|as| [ [rwejas]| = | 6z [a1 ]| 59
sz |24 = |ozz|oa R EEER A EN 6 [oc| v [o9|oe]| = | 82 |21 ] sS4
R EENEENHEEDR si|aal + [scu|as| o [ecan|az| { 16 [as| I |65 [ac| - 1z [ a1 [D2s3
o5z [wd | - [sg[wva|l + [oes|[wval| | [#se|[we| n [ear|vei| z [ o6 [ws| Z |85 [ve]| : 9Z | vI [4ans
6tz [ 6d | . |nz|ea| + [ea|ea| | (e 66| o [rav| 62| A |68 |6s| A [Is|ec| 6 | sz |61 | w3
gtz [ ed | - [wz|ea| 1 [rer]ea| @ [z as | K Jozr|er| » [ eg[ec| x [9s|ec| 8 | ¥z | 21 [NvD
vz | 24 stz|zal 1 Jes{za|l v [wse| 26| o Jerr| 22| m [ 2e|uis| m [ss|ze] 2 [ gz |21 913
orz [ | = [wz{oa|l 1 [esfoa| v Jose | as | v Jan| oz ~ [Joesfos| A [#s]{oc] 9 | zz |91 [HAS
stz [cd | § [egf[cal T [werfca| v [err|se | © [z szc| n [ea|cc| n [es|ce| & 12 | 51 [MVYN
vtz [ 4| b [@z[ral 3 Jos|[ra] | [sre|[ w6 | o [on]|rz| 3 8 [#s| L [es|{re| v [ oz [+ [r2a
evz [ ed | == [meleal 3 [enfea] T (v 6| o [onfcer| s [es|es| s [is|ec| ¢ 6L | £1 [£20
vz | 74 orz|za| 3 [ea]|z4a oFL | z6 | I [wrb]| 22| 1 g (a5 | 9 [os|ze| 2 [ & |20 |220
ivz [ 14| * [60z|1a| & [24]14 Sk | 16 | = [er| 12| b g1 | o [er|1e| 1 TRETREEDR
orZ | 04 goz|[oa| o (92|04 theb| o6 | 3 [2r|oz| 4 [og|oc| A [sr o] 0 | 9L |0k ][370
6cZz [ 43| . (zoz|[dDo| o [safav| « Jere|de | v [rn|do9| o [62|dv| O v |[d2]| HEIENEE
gez (33 _ (ooz[3ao| « [rvarfav| » (e[ 3| v [ore|30| w [z |3v| N [ov[32] L [ 30| OS
gz (a3 | A [soz|aoox| - Jenfav| T bk |as | T [eor|ae| w [ 22 ar| w [sr|az]| - €L | ao| 42
9¢Z (23| & [voz|[20] | |eir|ov| = [ore ] 2| T Jeor| 29| 1 of [ov | 7 | w22 ° ZL [ Do | 44
cez (a3 n [goz|ao| - [wafav| = Jeer|as| T Jzor[ao| 9 [szfar| v [sr|az]| + THIEET
vez [va | n [zoz|wv2a| - [oZb|wv]| = [ser|{we| 2 [90b]|wol| I vL(wr | [z [ve | . oL | wo | 41
egZz |63 | n 02|62 | + [69b |6V | @ |20 68| @ [so0bL| GO O €l | 6F | | b |6z | 6 | 60| LH
zez (a3 | 4 (ooz{eo| + [ew|ev | ¢ Jocr|ae | 2 [vor| 0o u [ 22 |er| H [oOF |22 ] } g |80 s4a
bez |23 d [e6r|o] v || iv| o [ser]|ze | 5 Jgon| 9] D Vi | 9 | 6E | iz L | Zo]|134a
ocz |93 | T [eer|o0| © Joor|ov]| - [rer]| 98| T [zow| oo 3 ol [or | 4 |[se|oz]| % 9 |90 [Mow
622 |3 o (|| + (e[| N Jeer|ce | ¢ Jron|sol @ [eo|cor| 3 [ie]sz]| % S [ <0 [ON3
gzz [ 3| o (9s || - [rn|wo| v Jzer|ve | © Jon|vo| p [ |vr | a [ee|vz] % ¥ [ ro [103
iz |3l o [se|o| « [emfev ] o Jeerfea| ¢ |66l 2 [salev| 2 [selcz]| = £ [ =0 [x13
ozz (23| o (w620 | - [em|av | o Joor|[ze| 2 [es|zo| a [oo|ar| a [vefzz]| . Z | zo [x1s
czz (13| 9 (e[| - [wm[ww | T Jezr[ e | n [ef1of ¢ [sofir| v [z ]| i L [ 10 [HOS
vtzz (o3| o [zer|oo| + Joo|ov | © [szr|os | 3 |96 | 00| . to(or| ® [geloz|ds [ o [ 00 ]NN
234 [XIH[IDSVY[DAAXIHNDSY[DIA|[XIHNDSY[D2IA | XTH NIDSVY[DIA[XIHNIDSVY[DIA [ XIH[NDSY[DIA[XIHNDSY[DIA [XIH|IIDSY

28

Crestron International — Intermediate Training




